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  study examined the importance of laser technique in advanced methods of engraving as 
an important tool in composition and design in all its purposes, for the  art engraving one  
of direct method and most commonly used in printing  design, and through the historical 
narrative of sustained and sought Artist ancient and modern in the manufacture and 
manual , and mechanical, in order to enrich the aesthetic value of the gross technical. 
    Identified the study to the theory and practice of laser technology, and then conduct 
tests on samples of research and selected  to be engrave with laser-beams on  templates 
print manual (e silk screen, laino), which is considered one of the most important means of 
traditional educational and traded in the methods of engraving � handwork in our society, 
art, and the possibility of add modern techniques to traditional methods, to enrich the 
aesthetic values in the design printed. 
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